
Converting Celsius to Fahrenheit (H)Estimate or convert the temperatures.
-1 °C = _____°F 26 °C = _____°F 18 °C = _____°F
14 °C = _____°F 39 °C = _____°F 51 °C = _____°F
85 °C = _____°F 72 °C = _____°F 58 °C = _____°F
-78 °C = _____°F -31 °C = _____°F 83 °C = _____°F
-43 °C = _____°F 70 °C = _____°F 82 °C = _____°F
29 °C = _____°F 46 °C = _____°F 87 °C = _____°F
-37 °C = _____°F 1 °C = _____°F 7 °C = _____°F
-30 °C = _____°F 17 °C = _____°F -65 °C = _____°F
-94 °C = _____°F -7 °C = _____°F 88 °C = _____°F
-12 °C = _____°F 96 °C = _____°F -55 °C = _____°F
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Converting Celsius to Fahrenheit (H) AnswersEstimate or convert the temperatures.
-1 °C = 30.2 °F 26 °C = 78.8 °F 18 °C = 64.4 °F
14 °C = 57.2 °F 39 °C = 102.2 °F 51 °C = 123.8 °F
85 °C = 185 °F 72 °C = 161.6 °F 58 °C = 136.4 °F
-78 °C = -108.4 °F -31 °C = -23.8 °F 83 °C = 181.4 °F
-43 °C = -45.4 °F 70 °C = 158 °F 82 °C = 179.6 °F
29 °C = 84.2 °F 46 °C = 114.8 °F 87 °C = 188.6 °F
-37 °C = -34.6 °F 1 °C = 33.8 °F 7 °C = 44.6 °F
-30 °C = -22 °F 17 °C = 62.6 °F -65 °C = -85 °F
-94 °C = -137.2 °F -7 °C = 19.4 °F 88 °C = 190.4 °F
-12 °C = 10.4 °F 96 °C = 204.8 °F -55 °C = -67 °F
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